ANTIDIFFERENTIATION = INTEGRATION

$$\int (6x - 30x^4) dx$$
= $\frac{6x^2}{2} - \frac{30x^5}{5} + C$
= $\frac{3x^2}{4x^5} + C$

Derivative
$$f(x) = 3x^{2} - 6x^{5} + 7$$

$$f'(x) = 6x^{2} - 30x^{4} + 1$$

$$5 = 6x^{2} - 30x^{4} + 1$$

Power Rule for Integrals
$$\int x^n dx = \frac{x^{n+1}}{n+1}$$

$$\int (8x^{5} - \frac{1}{2}x^{6} + \sqrt{3}x^{2} - 5) dx \qquad y = x^{3}$$

$$\int (8x^{5} - \frac{1}{2}x^{6} + x^{2/3} - 5) dx \qquad y = f(x)$$

$$= \frac{8x^{6}}{6} + \frac{1}{2}x^{-5} + \frac{1}{2}x^{5/3} - \frac{5x^{6}}{1} + C \qquad dx = f'(x)$$

$$= \frac{4}{3}x^{6} + \frac{1}{10}x^{5} + \frac{3}{5}x^{5/3} - 5x + C$$
Derivative - Dicrease the power

Integration - Increase the power

$$\int (x^{2}-3)(x^{5}+8x)dx$$

$$= \frac{1}{8} + \frac{1}{8} + \frac{1}{2} + \frac{1}{2$$

DEFINITE INTEGRALS Answer 15

$$\int_{-1}^{2} (6x^{2}-2x+1) dx$$

$$= \frac{6x^{3}}{3} - \frac{8x^{2}}{3} + x + C \Big|_{-1}^{2}$$

$$= 2x^{3} - x^{2} + x + C \Big|_{-1}^{2}$$

$$= 16 - 412 + 2 + 41 + 1 + C \Big|_{-1}^{2}$$

$$= 18$$

$$\int_{4}^{9} \left(\frac{1}{\sqrt{x}} + 2\sqrt{x} \right) dx$$

$$\int_{4}^{9} \left(x^{-1/2} + 2x^{1/2} \right) dx$$

$$= 2 \cdot x^{1/2} + \frac{2}{3} \cdot 2x^{3/2} \Big|_{4}^{9}$$

$$= 2\sqrt{x} + \frac{4}{3} \sqrt{x^{3}} \Big|_{4}^{9}$$

$$= 2\sqrt{9} + \frac{4}{3} \sqrt{9^{3}} + \left(2\sqrt{4} + \frac{4}{3} \sqrt{4^{3}} \right)$$

$$= 6 + \frac{4}{3} \cdot 2^{3} - 4 - \frac{4}{3} \cdot 8$$

$$= 6 + 36 - 4 - 3^{2} \cdot 3$$

$$= 38 - 3^{2} \cdot 3 \cdot 3$$

$$= 114 - 3^{2} \cdot 3 \cdot 3 \cdot 3$$

$$= 114 - 3^{2} \cdot 3 \cdot 3 \cdot 3 \cdot 3$$

